
845-994V00

IN231000538V01_GL





1

A*2

A*2B*2

B*2

C*1

D*1

E*1

F*2

G*1

H*1

F*2

x161
M4*30

x42
M3*15

x103 x13

x1E x2F x1G x1H

x2A x2B x1C x1D

+1(spare)



x81
M4*30

02

01

2

A

A

C

B

B

1

1

1
1

Repeat this step on the other side.

x81
M4*30

Repeat this step on the other side.



x42
M3*15

04

03

3

H

F F
G

E

D

Top view

3

3

3

x103

1

1




